Roll No. :

Objective
Paper Code
6191

Intermediate Part First

MATHEMATICS (Objective) Group —1
Time: 30 Minutes

Marks: 20

-3¢

You have four choices for each objective type question as A, B, C and D. The choice which you think is correct, fill the

Q.No.1 relevant circle in front of that question number on computerized answer sheet. Use marker or pen to fill the circles.
s Cl:l'm't!‘g of filling two or more CI:‘;:{ES willt;']esuit i:lI ze;ol) m[a:rks in that question. Attempt as many questions as given in
objective t uestion paper and leave other ci : o
jective type question pap r circles blan E‘s =y
S# Questions A B C ‘D
1 | Multiplicative inverse of —i is: i —i 1 -1
% | i i, then . i Rational Whole Natural Irrational
I {5 Py, TS 168 number number number number
3 | A function f: A — B is surjective if: Range f= A Range f=B | Rangef#A | Rangef#B
4 | Set of integers is a group with respect to: + + % =
Which symbol is used for membership of a
5 A v € =
set?
6 | Transpose of diagonal matrix is: Scalar matrix | Row matrix | MNull matrix Dgi?&a]
. ’ : : 1 adj (A |A|
7 | For any non-singular matrix A, A™! is: | Aladj(A) TATadjCA) —IA/EI_) adj (A)
8 A quadratic_equ‘ation ax? +bx +¢ =0 becomes sl ¥, ¢=0 ;‘1 =ik
linear equation if: -
If ® is complex root of unity then value of '
9 2 - 6 7 9 13
B+o)3+w)is:
10 b improp?,r fraction ean be changed into Addition Subtraction | Multiplication Division
proper fraction by: .
. ; . ® L Arithmetic
11 | The sequence 3, 6, 12 is: AP G.P H.P -
2 Lfa, b are negative and G.M is also négative H<A <G A<H<G G<A<H A<G<H
en:
' 13 [Ifnisa negative integer then [n is: 1 Not defined Zero n
The number of term_in the.expansion of 3 : 1
+ n— n
4 (a+b)"is: n°+1 n
15 | The 60th part of 1 degree is called one: Second Radian Degree Minute
16 | cot(m—a)=: sina. cota —coto. tano
. . T T
17 | The domain of cosx is: [-1,1) (*“2“,'5) R Q
1 | A circle passing through the three vertices of | o\ irele | In-circle | Escribed circle| Both A and B
a triangle is called:
sl __].._ = .E _E j{— —-E
19 | sin ( 2) : 3 6 4 3
20 | If sinx = cosx, then x =: 45° 30° 0° 60°
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1109-X1124 Intermediate Part First Roll No. -
' MATHEMATICS (Subjective)  Group —I

Time: 02:30 Hours Marks: 80 < Oy

SECTION -1
2. Attempt any EIGHT parts: 16
(i)  State Golden rule of fractions and rule for quotient of fractions.
(i) Find multiplicative inverse of (v/2,~/5)
(iii) Prove that sum as well as product of two conjugate complex numbers is a real.
(iv) Simplify: (a+bi)?
(v) Write power set of A ={9, 11}

(vi) If a, b are elements of a group G, then show (aby ' =b'a!

(vii) If A= B H:} , show that A —(A)" is skew-Hermitian.

l 2 _3 -
(viii) Evaluate: |[-1 3 4
-2 5 6

(ix) IfA :[22 _ﬂ then find A~
(x) Findkif x3 + kx? = 7x + 6 has remainder — 4, when divided by x + 2.

() @o,p are roots of 5x2 —~x+2=0, find %4»—3-

B
(xii) Discuss the nature of roots of x> -5x+6=0 _
3. Attempt any EIGHT parts: 16
(i)  Define rational fraction.
2
(i) Resolve into partial fractions =~ "2)‘3‘
+

(iii) Define sequence.

(iv) If the 5th term of an AP is 13 and its 17th.térm 1849, find its general term. .
(v)  Find vulgar fraction equivalent to 1.83, recurring decimal. )
I

g

-

(vi) Find the 12th term of harmonic séquence —% 5 % ;

= i 10!
(vii) Evaluate: =T

(viii) Define sample space!

(ix) Find the valueOf mif A, = 12x11

21
(x) Show thag 3" - s divisible by 4 ifn=3.
12
(xii) Find the middle term of [%+ ]

4. Attempt any NINE parts: 18
J3

(i) If cos@= =5 and the terminal arm of the angle is in IIl quadrant, find the value of sin6 and tan®

i
(xi) Expand (1-2x)3 up to 4 terms.

><M| k3

(i) Verify that cos20 = 2c0s20 ~1 when 6=30°
(iii) Show that cos(a +Bycos(a.—P)= cos?B—sin?
(iv) Prove that coto.—tana = 2cot2a

in3x —sinx
(v) Prove that SR~
cos X — cos3x

(vi) What is the domain and range of y = cos X i

o

=cot 2X

—
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(vii) Find the period of 3005—};—

(viii) Draw the grapgh ofy=sinxfor0<x= 360°. _ FSD"/ ”W
(ix) Find the measure of the greatest angle £ sides of triangle are 16,20, 33.
(x) Find the area of the triangle ABC, when b=37,c=45, 0 =30°50'

(xi) Provethat B = rs?

(xii) Prove that 2tan"t A =tan”" 12‘:2
Find the solution of equation secx = -2, xel0, 2n)

(xiii)
{ SECTION — 11 Attempt any THREE questions. Each question carries 10 marks. |

5. (If A= B '“ﬂ, Al [B ﬂ , find the values ofaandb.

(b)Solve the system of equatiohs X2 —5xy+6y*=0 ; x2+y* =45

4
6. (a)Resolve into partial fractions:

1=x"

(I y =142+ 4xE +8 + ... show that x:l’{yi

(b)If 2y:~,)lz—+1—2’?—.-%{+l%’§i.-21—6+ .., then provefthat Ayt 4y -1=0

8. (a)Find sin(o+ B) and cos(a+ B), given that tan@i= __1_@5_ and sinf = -—-é% and neither the terminal
side of the angle of measure & Dor thatof P isin the IV quadrant.

(b)l)l'()ve that it} 5] + Nk + Iy o= S?'

9. (a)Prove the identity, state the demain of O, siné 0 +cos®0=1-3 sin’ 0 coste™

Pr —‘Lz_o_z "}_2..
(b)Prove that tan {79 2'cos 3
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